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class Kimatsu2 {

public static void main(String[] args) {
Engine egl = new Engine("AE 2100", 873.0), eg2;
JetEngine jetEg = new JetEngine("CF6-80C2", 4472.0, 28802.0);
egl.printInf () ; jetEg.printInf();
eg2 = jetEg; eg2.printInf () ;
Plane pll = new Plane("C-130J", 4, egl);
Plane pl2 = new Plane("B767", 2, eg2);
JetPlane jetPl = new JetPlane("B747", 4, jetEg);
pll.printInf(); pl2.printInf(); jetPl.printInf();
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class Plane {
String name;
int numberOfEngine;
Engine engine;
Plane(String name, int numberOfEngine, Engine engine) {
this.name = name;

this.number0OfEngine = numberOfEngine;

this.engine engine;
}
void printInf() {
System.out.println("UO0O0O" + name + "OOOOOODOO" + numberOfEngine + "OOODOODOODO");

engine.printInf();

class JetPlane extends Plane {
JetPlane(String name, int numberOfEngine, JetEngine engine) {
super (name, numberOfEngine, engine);
}
void printInf() {
System.out.println("0000O00O0" + name + "O0O0O0O0O00O0O0OOOO"
+ numberOfEngine + "OOOODOODOO");

engine.printInf();

class Engine {

String name;

double weight;

Engine(String name, double weight) {
this.name = name;
this.weight = weight;

}

void printInf() {
System.out.println("O00O00OO0OOOO0O" + name + "ODOODO" + weight + "kg");
System.out.println();

class JetEngine extends Engine {

double maxTrust;

JetEngine(String name, double weight, double maxTrust) {
super (name, weight);
this.maxTrust = maxTrust;

}

void printInf() {
System.out.println("00000000CO0OO0DO0O" + name + "OOOODO" + weight + "OO");
System.out.println();
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class Kimatsu3 {

public static void main(String[] args) {

int N = 6;

StudentBmi sbL[] = new StudentBmil[N];

sbL[0] = new StudentBmi("ODOOOO™"™, 2); (a) ;
sbL[2] = new StudentBmi("O OO OO", 2); sbL[3] = new StudentBmi("O O OOO", 2);

sbL[4] = new StudentBmi("ODOOOO™", 2); sbL[5] = new StudentBmi("OOOOO", 2);
sbL[0] .setHW(0, 1.24, 30.0); sbL[0].setHW(1, 1.65, 55.0);

sbL[1] .setHW(0, 1.15, 22.0); sbL[1].setHW(1, 1.27, 0.1); (b) H
sbL[2] .setHW(0, 1.26, 31.0); sbL[2].setHW(1, 1.64, 57.0);

sbL[3] .setHW(0, 1.32, 35.0); sbL[3].setHW(1, 1.81, 68.0);

sbL[4] .setHW(0, 1.27, 32.0); sbL[4].setHW(1, 1.70, 58.0);

sbL[5] .setHW(0, 1.20, 26.0); sbL[5].setHW(1, 1.85, 100.0);

for (int i =0 ; i < N ; ++i) sbL[i].calBmi();
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for (int k = 0 ; k < (©) s ++k) |
int toplInd = k;
for (int 1 = (d) ;1 <N ++1) |
if ( (e) ) topInd = 1;
}
StudentBmi tmp = (£) ;
sbL [topInd] = (g) ;
sbL [k] = (h) ;
}

for (int i = 0 ; i < N ; ++i) sbL[i].print();

class StudentBmi {
String name;
int nData;
double heightL[], weightL[];
double maxBmi, aveBmi, lastBmi;

StudentBmi (String name, int nData) {

this.name = new String(name); this.nData = nData;

heightL = new double[nDatal]; weightL = new double[nDatal;
}
void setHW(int index, double height, double weight) {

heightL[index] = height; (€D) ;
}

void calBmi() {
double tmpBmi = 0.0;
maxBmi = aveBmi = 0.0;
for (int i = 0 ; i < nData ; ++i) {
aveBmi += tmpBmi = weightL[i] / (heightL[i] * heightL[i]);
if ( (3 ) maxBmi = tmpBmi;
}

lastBmi = tmpBmi; (k) ; // aveBmi OO0

}

boolean largerBmi(int type, StudentBmi rival) {
boolean result = false;
switch (type) {

case 0:

result lastBmi > rival.lastBmi;
break;
case 1:

result = [@D) ;

break;

}

return result;

}
void print() {
System.out.printf(’’%s OO BMI: %5.2f OO BMI: %5.2f OO BMI: %5.2f \n’’,

name, lastBmi, maxBmi, aveBmi);
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(a) float rL[] new float[4];
(b) 0 (rL[0])

(c) 3 (rL[3])

(d) float rL[] = {3.2, 2.4, 6.3, 1.7};
(e) 0DODOO

(f) OO

(g) OO

(h) O

() 0000000

(G) 0ooo
(k) x
(1) this.x

(m) pt.price = 230;
(n) 0OOO

(o) this

(p) OO (inheritance)
(q) Reactor

(r) OO

(s) Parts

(t) 0000

(u) super

(v) 00DOooooo
(w) O

(x) OO

(y)y 0000000 ((y)O (»0000)
(z) 000000

(A) N?

(B) Nlog, N

(C) public, protected, private 000 10
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Parts pL[] = new Parts[3];

pL[0] = new Parts();
pL[1] = new Parts();
pL[2] = new Parts();
0o0o(160)

goboboOobOoObDdae 21000000 873.0kg

oboo0oO0ooboobOoo0ongcre-soc20 00O 04472.000

gboooobbobOooog cre-soc2 000 04472.000

obobc-130J00000000 400000000
goboboobooobdAae 21000000 873.0kg

gbooOsre7O0 0000000 200000000
obOoO0oooboooboOoo0oongcre-soc20 00O O4472.000

gbobooosr47r0000OO00ODOOOO 400000000
obOo0oO0oobOoobOoO0o0ong cre-soc20 00O O4472.000
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(a) sbL[1] = new StudentBmi("OOOOO", 3)
(b) sbL[1].setHW(2, 1.47, 36.0)

() N -1

(d) k +1

(e) ! sbL[topInd].largerBmi(1, sbL[1])
(f) sbL[topInd]

(g) sbLI[k]

(h) tmp

(i) weightL[index] = weight

(j) tmpBmi > maxBmi

(k) aveBmi /= nData

(1) maxBmi > rival.maxBmi || maxBmi == rival.maxBmi && aveBmi > rival.aveBmi



